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ANTHROPOLOGY
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying

two (2) marks. Attempt all of them.

Bipedal mode of locomotion in human evolution permitted :

(A) The brain to enlarge

(B) Free movement of hands
(C©) Reduction of jaw size
(D) All of them

A man with blood group ‘A’ married a woman with “AB’ type. Which of the following
types of blood group could not be found in their children ?

(A) B (B) AB
(C) O (D) A

A genotype consisting of two identical genes for a given character is said to be :
(A) Dominant

(B) Homozygous
(©
(D)

Recessive

D) Heterozygous

One of the common types of mutation is :
(A) Inversion (B) Translocation
(C) Point (D) Allelic

Which of the following dermal patterns possesses two triradii ?
(A) Loop (B)  Whorl
(C) Arch (D) None of them

Homo erectus is associated with :
(A) Origin in Africa
B) Migration to Asia
) Development of Acheulian tool culture
D) All of these

D —-0708 2
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10.

11.

12.

13.

How many pair of ribs are present in the chest cage ?
(A) 10 (B) 14
(C) 16 (D) 12

Among primates only one of the following characteristic is un important :
(A) Grasping hand
B) Vision

) Social behaviour
D) O faction

(A) Lake

B) River

) Tree

D) Amino-acid

(A) Handaxe
B) Scraper

) Knife

D) Denticulate

Which of the following geological age yielded Ramapithecus ?
(A) Oligocene

(B) Miocene

(C) Pliocene

(D) Pleistocene

In which of the following states lies the site Lothal ?
(A) Maharashtra

(B) Haryana

(C) Gujrat

(D) Chennai

Which of the following sites yielded first evidence of rice in India ?
(A) Koldihwa
B) Sarai Nahar Rai
) Burgahom
D) Hathnora
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14.

15.

16.

17.

18.

19.

Who among the following is an ‘arm chair anthoropologist’ ?
(A) Edmund Leach

(B) Raymond Firth
(C) James Frazer

(

D) Evans Pritchard

)
)
Who is the author of the book ‘Indians Changing Villages” ?
(A) M. N. Srinivas

(B) Mc Kim Marriott

(C) S. C. Dube

(D) L. P. Vidyarthi

Which of the following is a pastoral community ?
(A) Birhor (B) Toda
(C©) Lodha (D) Gond

In kinship, reckoning the person to whom the relationship is being traced is called

(A) Primary kin

(B) Alter
(€) Ego
(D) Fictive kin

In size, lineage is
(A) Equal to family
(B) Equal to moiety
(C

(D

) Smaller than clan

) Larger than phratry

The process of a child learning its own culture is known as
(A) Acculturation

B) Informal learning

Enculturation

Socialization
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20. Match the item in List - I with an item in the List - II. Use code given below:

List - 1 List - I1
(a) Dominant Caste (i) Mckim Marriott
(b) Universalization (i) L. P. Vidyarthi
() Sacred Complex (iii) D. N. Majumdar
(d) Bongaism (iv) M. N. Srinivas
Code

(@ @ (o @
(A) @ @) (@) @
(B) (@v) @) @) (i)
© @ (@ @v) ()
(D) (@v) (@) () ()

21. ‘Rites de Passage’ have been theoretically explained by :

(A) Levi-strauss
(B) Fredric Barth
(C) Van Gennep
(D) Marcel Mauss

22. Match the item in List - I with an item in the List - II. Use code given below:

List - I List - II
(a) Shamirpet (i) L. P. Vidyarthi
(b) Rampura (i) Mckim Marriott
(¢) Kishan Garh (iii) S. C. Dube
(d) Gaya (iv) M. N. Srinivas
Code

(@ ® (© @
(A) @) (D) (v) (i)
(B) @) (v) @) @)
(© Gv) (@) @ ()
(D) @) (v) (D) (i)
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23. Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Ice age is caused due to change in solar radiation.
Reason (R) : Solar radiation is changed due to change in sea level.

(A) Both (A) and (R) are correct.

(B)  (A) is correct (R) is wrong.
(C) (A) is wrong (R) is correct.
(D) Both (A) and (R) are wrong.

24. Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Acheulian is a lower palaeolithic culture.
Reason (R) : The tools are made by cylinder hammer technique.

(A) (A) is correct (R) is wrong.

(B) Both (A) and (R) are correct.
(C) (A)is wrong and (R) is correct.
(D) Both (A) and (R) are wrong.

25. Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Archaeological excavation is scientific digging.
Reason (R) : It is for systematic study of past.
(A) Both (A) and (R) are correct.

(B) (A) is wrong and (R) is correct.
(©) (A) is correct and (R) is wrong.
(D) Both (A) and (R) are wrong.

26. Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Chalcolithic is a cultural stage in India
Reason (R) : Both stone and copper were used in this stage

(A) Both (A) and (R) are wrong.

(B) (A) is correct (R)is wrong.
(C) (A) is wrong and (R) is correct.
(D) Both (A) and (R) are correct.
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27. Match an item in List - I with an item in the List - II. Use code given below:

List - I List - 11
(a) Loop (i)  Sagittal crest
(b)  Olecranon process (i) Cervical
(c) Gorilla (iii) Ulna
(d) Odontoid process (iv) Finger pattern
Code
(@ (b)) () (@
@A) (@) O ) @
® () (v O G
© O (v @) (i)
D) (v ) O )
28. Match an item in List - I with an item in the List - II. Use code given below:
List - I List - 11
(a) Charles Darwin (i) Raymond Dart
(b) Australopithecus Africanus (i) Genetical Theory of natural selection
() R. A. Fisher (iii) Descent of man
(d) Thomas Huxley (iv) Evidence as to man’s place in nature
Code :
(@ (b) (o (@
(A) @) (D) (v) (i)
(B) @) @ G) ()
(© G) @) @ )
(D) Gv) @ G) (i)

29. Find correct ordering of the following tools in terms of their appearance.
(A) Handaxe — Blade — Lunate — Celt

(B) Lunate — Handaxe — Blade — Celt
(C) Blade— Lunate —» Handaxe — Celt
(D) Celt - Handaxe — Lunate — Blade

30. Find correct ordering of the appearance of following stone tools making techniques

(A) Cylinder-hammer — Fluting — Grinding-polishing — Prepared Core

(B) Prepared Core— Cylinder-hammer — Fluting — Grinding-polishing
(C) Cylinder-hammer — Prepared Core — Fluting — Grinding-polishing
(D) Grinding-polishing — Prepared Core — Fluting — Cylinder-hammer

D —-0708 12



27. G -1 < Al B gt - ¥ < A & W gAfera S
-1 et - 11
(a) < () Gfed e
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31. Find proper ordering of following sites according to their cultural chronology
(A) Amri — Kalibangan — Atranjikhera — Sarai Nahar-rai
(B) Sarai Nahar-rai — Amri — Kalibangan — Atranjikhera
(C) Kalibangan — Atranjikhera — Amri — Sarai Nahar-rai
(

D) Atranjikhera — Kalibangan — Amri — Sarai Nahar-rai

32. Match an item in List - I with an item in the List - II. Use code given below:
List - 1 List - 11

( Daojali hading (i) Palaeolithic
( (i) Neolithic
() Navdatoli (iii) Mesolithic

( (iv) Chalcolithic

Bagor

d) Pallavaram

Code

(@ ® (o (@)
(A) (i) (@v) @ @)
B) (@v) @ G (i)
© @O G @) @)
(D) @) @) (@v) @)

33. Match an item in List - I with an item in the List - II. Use code given below:

List - 1 List - 11
(a) Burin (i)  Neolithic
(b) Lunate (ii) Chalcolithic
(c) Chisel (iii) Palaeolithic
(d) Dagger (iv) Mesolithic
Code

(@ ((b) () (@
(A) @) () (@) @)
(B) @) (@Gv) @ (i)
© G@v) @ @) ()
(D) @) (@) @) @Gv)
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34.

35.

36.

37.

38.

Match an item in List - I with an item in the List - II. Use code given below:

List - I List - 11
(@) Dolmen (i) Oldowan
(b) Chopper (i) Mesolithic
(c) Shouldered Celt (iii) Megalith
(d) Microliths (iv) Neolithic
Code :

@ (® (© ()
(A) @) @) @) @Gv)
(B) @) (v) (@) ()
(© Gv) (@) G @
(D) @) @  (v) (i)

Which one of the following statement is not correct ?

(A) Culture is the man made part of environment

(B) All human societies have culture
(C) Some cultures are superior than other cultures
(D) Civilization is an advancement over culture

Case study is very close to which of the following methods ?

(A) Geneological methods

(B) Questionnaires
(C) Biographical method
(D) Observation methods

Which economic exchange is associated with chiefdom type of political organization ?
(A) Barter

(B) Reciprocity
(C) Redistribution
(D) Market exchange

Which of the following statements is true about Scheduled Tribes ?
(A) They all live in hilly and forest areas

(B) They all speak tribal languages
(C) They are a politico - administrative category
(D) They all believe in animism only

D —-0708 16



34.
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39.

40.

41.

42.

43.

Kardiner and Linton can be labelled as

(A) Structural - functionalists

(B) Psychological Anthropologists
(C) Neo-evolutionists
(D) American diffusionists

Surplus is absent in

(A) Subsistence economies

(B) Food gathering economies
(C) Both the above are correct
(D) Both the above are wrong

Ancestor propitiation is explained by functionalists as resulting in

(A) Blessings of the ancestors

(B) Kin group solidarity
(C) Distribution of food
(D) Fulfillment of obligations

Identify the correct sequence :

(A) Savagery — Barbarism — Modernity — Civilization.

(B) Barbarism — Savagery — Modernity — Civilization.
(C) Savagery — Barbarism — Civilization — Modernity
(D) Barbarism— Civilization — Savagery — Modernity

Read the following statements and pick the correct answer :
Statement - 1 : Culture is dynamic. It adapts to the changing condition
Statement - II : Traditional cultures are conservative. They change slowly

(A) First statement is correct. Second statement is not true

(B) First statement is partially correct. Second one is true
(C) Both the statements are correct
(D) Second statement is correct. First statement is partially true
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39.

40.

41.

42.

43.

FITER 3R feave =i &1 A T S R
(A) GIEAHS YehrIaTeT
(B) T TRHERIE
(C) Ta-3Igfard am
(D) HRE TER Rt

“srfoen ' forg | etufied € :
(A) e frafs stefermed

(B) e HUTEsh Fefeereey

(C) 3I9Y® T T |

(D) 39 SMI e € |

oIS STIEA 1 IROTH TGl g S S T
(A) TESI o ARSI 9

(B) Teteri % &g ® Ui weal

(C) T vl o faao

(D) < =l qU

HE SATHA AT

(A)  arIfereRal — el — Y e — F2rel
(B) &Il — TTSTforehdl — ST fTehdl — Tl
(C)  TIferhal — SERAT — |1 — YRl
(D) TS — FHAT — IRIfeehal — YR

frreifera smerl ol dfgu 2R &t ST H1 =@ Hifere |

HYT-[ : HEHIA TATHSE Bl ¢ | I8 TRl gg Fefaii o §1el SR ardt ¢ |
HYA - [1: TR FEpfadi Eiearat Bt € | a1 STiew- sTiew aerd! ¢ |

(A) FU9 FHUT TE ¥ | T HUA T T © |

(B) U= e STifYreh 9 § WEl ¥ THUI 9A T

(C) < wed T 2

(D) THU FUF T T TR e STk €9 H §A B
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44. Match an item in List - I with an item in the List - II. Use code given below:

List - 1 List - 11
(a) Curt Stern (i) J. M. Tanner
(b) Foetus into man (i) Pelvis
(c) Talus (iii) Foot
(d) Ischial Tuberosity (iv) Principles of Human Genetics
Code
(@ B () @
@A) v O G G
® O (v @) ()
© (v @) O i)
O (O ) v (i)
45. Match an item in List - I with an item in the List - II. Use code given below:
List - 1 List - 11
(a) Basic units of Inheritance (i)  Erect posture
(b) Linea Aspera (i) Canine
() Arch (iii) Genes
(d) Dog teeth (iv) Finger pattern
Code :
(@ ® () @
@A) O G (v G
B () (v @ 0
© (v ) @) @
D) @) O @) ()

46. Identify the correct sequence :

(A) Lumbar — Thoracic — Sacral — Cervical

(B) Thoracic — Cervical — Lumbar — Sacral
(C) Cervical — Thoracic — Lumbar — Sacral
(D) Cervical — Lumbar — Thoracic — Sacral

47. Which one of the following statements is correct ?

(A) One of the broader field of Anthropology is Human Biology

(B) The broader field is primatalogy
(C) The broader field is papaeo anthropology
(D) The broader field is Physical/Biological Anthropology
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44, Gt -1 TS I G- 1 H TR0 6 Wy GAfed it |

-1 et - 11
(a) e wA () SLTH TR
(b) HIEH T2 TH (i) Uetfe® (o)
(c) oo™ (iii) ™
d) e SEES (iv) TorETey 1w g SHfea
Eac
(@ B (© @
(A) (v) () (i) (i)
B) @) (v) @) (i)
© (@(v) @) @ (i)
D) @ @) (v) (i)
45. gelt -1 H & e o gelt - 10 & Hel & W e it
-1 T - 11
(a)  STTgeferehen it qel ehreal (i) R IR
(b)  fFeT THU (i) hTEA
(c) 3T (iii) SA
(d) sy (iv) TR ¥
IS :
(@ B (© @
(A) (@) (i) (v) (i)
(B) (i) (v) @) @)
© (@(v) @@ @) @
(D) () (@) (v) (i)

46. HE IHH IAEY :
(A) i & — Gl — el
(B) =&fta — e — hfe — AHH
(C)  Uite — =i — whic — Tt
(D)  UTe— =hfe — Fafg — ThH1

47. Treifea ® 9 S faum w@d §2
(A) TME faa™ ®1 Tw 9w & 7 S fome €
(B) AU & UIEHIAGTST
(C) <RI =9 & g0 9d fora B |
(D) SR =AY &5 IR / Sifasha 7re fomm 2
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48. Australopithecenes are :

(A) Gracile and Robust types
(B)  Only gracile types
(C) Only Robust types
(D)

D) Neither Gracile nor Robust types

49. Which of the following finger pattern types exhibit highest frequency ?
(A) Tented Arch

(B) Ulnar Loop
(C) Lateral Pocket Loop
(D) Whirl

50. DNA and RNA differ in_
(A) Base

B) Phosphate

Base and Sugar

Sugar only

-00o0-
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48.

49.

50.

SATEafyefiETg o €2

(A) A 3R TEI-Fgl TR
(B) fo® e JhR

(C) Tk Tgr-shgt IHR

(D) %A 3R 7 FeI-Hgl THR

3T TUeHd (U)o HIE TR SAfershad TRERAT Jeiid il & 2
(A) Sfeg ek

(B) ST T

(C) A Uiehe o9 (Wifveles el &9)

(D) =k

FTAT, IR AR AT, T At # firer €2
(A) 3TER

(B) THIEhe

(C) ¥R iR =i

(D) T =i

-00o0-
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Space For Rough Work



